in A, B, C. Find the
Obem,g the ) -. ta r
radius of the s Eji

hba s
e &,
=

(d) Find the equatmn f the
points (3, 1, - 3% (';
centre lies on the plaﬂﬁ

(e) Show that the equation of th
the points 0, -2, 45 ( Q
céntre on the straight line 2

x +y +2 ..':f:-.",'
L, ) Fmd the centre and the r

Find ?e radius of the circle
Q4% . 2 :
X + 3y~ 4 3,2 +x

-0y - -'_Jii.;._;
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ANALYTICAL GEwmis 1ivs ~

————

EXERCISE — VI A

e
- « and radius of the following sphere.
4:’-8y+ e~ 10 =0,
-f: + 22)— 2z +4y— 62 = 15.
I .:: ._ Gf thﬂ sphere paSSIHg thl’Oth the fOHOWll’lg pOlntS
. ©,1,-1), (-1,2,0), (1,2,3)- |
| ..J?-",‘-!"‘, (3,-3,1), (-1, = 1]
"passmg through the points (1,2,3), (2,5, —4), (1,4, -3

£

ﬂ]]d

'* z h agﬁpmts (2 5, —-4), (1 ,—3) and (4,7,~6) lie on the line

;-"-;'r'. bR S0 ) ;*"'ence. there is no SPhere passing through the giy,,

2 ST e 9 -
= o b s e s - . Y & -
L - - . B - * g

er. %= 49 > ;'ﬂ.". + 3
@ ) w.r.t. the sphere z? + y + 22 + N

S & : 4
£

ugh the arlgltain and makes equal
W?ﬂhf’fr“‘] 18 ‘,? l G

| ..---f‘f Jt 1o fosiaisn ‘
ctrahedrom whose faces are

=

r
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